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１ 次の式を展開しなさい。 

①  (𝑥 + 1)(𝑥 + 6)             ②  (𝑥 − 5)(𝑥 − 3)  

 

 

③  28x                 ④  27yx  

 

 

 

３ 次の式を展開しなさい。 

①  (𝑥 + 3)(𝑥 − 3)            ②   55  aa  

 

 

 

③   33  aa               ④   xx  66  

 

 

 

⑤ (4 − 𝑥)(4 + 𝑥)             ⑥   xx  77  

 

 

 

 

⑦  (𝑥 + 12)(𝑥 − 12) 
 

 

 

 

２ 次の式を簡単にしなさい。 

①    232  xxx            ② (𝑥 + 2)(𝑥 − 3) + (𝑥 + 5)(𝑥 − 5)  

 

 

 

③    22 44  xx            ④      1374  xxxx  

 

 

 

式の計算（乗法公式②） 

= ( ^ * 7ct 6 =

x
: 8 c t 15

= (= 16ct 64 =
x

* 14 cY t 49 y
ユ

= ピー 9 = A 225

= 92. 9 :36 つな

= 1 6 .x
=

= x 49

= 144

= つ( t 2 《 tεƩ 6 xt 9 = ( . 0 6 t x ミ 25

= 2 ァc
? : 4( t 9 = 2 xc = 31

= x 8 c16(± 8c16 = ?(* 3 c28 (± 4 x3

= 16 x = λc 3 1


	３年完成形



